
Mark / 10 %

1) Round to one decimal place [3]

2) Round to two decimal places [3]

3) An office worker's hourly wage is £22.307. Give her hourly wage in pounds rounded to the nearest
penny.

      

[1]

4) Round to three decimal places [3]

Rounding to Decimal Places
Name: Class: Date:

 

     a) 47.41

     b) 5.553

     c) 2.97

     a) 5.242

     b) 6.038

     c) 70.598

     a) 6.25237

     b) 54.68583

     c) 3.4196
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Solutions for the assessment Rounding to Decimal Places

1)  a) 47.4      b) 5.6

     c) 3.0

2)  a) 5.24      b) 6.04

     c) 70.60 3) £22.31

4)  a) 6.252      b) 54.686

     c) 3.420
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